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134 . (1) K =3x0 - x3-x*+x?+
X3X2=3x0-x+x=3x°,
2) Ji X =-9m?n +3mn+6mn?
3mn=-3m+2n. |
14.1%: (DEA=[x-(y-9) ]+ |
[(x+(y=9) J=a>~(y-9)2=x’—*+ 18y~
81.

2) )i =(a-2b P4c42¢(a2b )=

a~4ab+4b>+c*+2ac—4bc.

1558 . i =[x —6wy+9y> (4>
y?) 2y

=(a2-6xy+9y*~a>+y?) =2y

=(—6xy+10y?) 2y

=-3x+5y.

M x=2,y=1 B,

JRA =—3x2+5x1=—6+5=-1.

16.f#%. (1A K 52=3,

T LA(5%)2=3%=9, |
b)?

(2)HH 5=3,5°=8,5°=72, ;
‘ =4a’+6ab-2ab-3b*~4(a’~2ab+
L, 5= 5;}5 - 3><872 —57 bz) \

17. %% AR 8 il 25 ok AR T%n =4a’+4ab-3b’~4a’+8ab—4b>
m(A )=m*+6m. | =12ab-7b> |
Pk 2 1A =(m?+6m) +m= - PrASREATIEEUN (12a0-702)
m+6. CSE Kk |

18f#%: (1)<

(2 )266:23x22:(23)22:822_

41 7<8,

P LA 7282, Bl 722206,

1988 (DR x4y=3, (x42)(y+

2)=12,

Bt LA xy+2x+2y+4=12.

FIr LA xy+2(x+y)=8.

LA xy+2x3=8.

JITLA wy=2.

(2N w+y=3,xy=2,

FIT LA a2+ 3y +y2=(ooy ) 4ay=3%+

2=11.

20.%% . (1)91x89
=(90+1)x(90-1)

=90%-12

=8 100-1

=8 099.

(2)3 x(22+1) x(2*+1) x -+ x

3 (2%+1)

=(22-1) x(22+1) x(2*+1) x *** x

(2°4+1)

=(2-1)x(2%1)x---x(2%+1)
=(2%-1)x(2%+1)

=251,

&,

215 (1)(2a-b)(2a+3b )-4(a—

2)4 4=20,b=10 B},

| 12ab -76*=12x20 x10 -7 x10°=
' 1700(F K ).

1700x80=136 000(T.).

O AR X S 1l T 1 AR
°h 136 000 JT.

22. 8% (L)WM, 15

S;=(x+5) (y+5)=xy+5(x+y) +

25,

S;=(x=2)(y-2)=xy-2(x+y)+4.
| FIr LA S1=S,=xy+5(x+y ) +25-xy+
© 2(x+y)-4=T(x+y)+21=T(x+y+3).
LB Xy HIERESL,

FrLL S, 5 S, B ZE—

%K.

(2) A 15 S1-S,=196, H) 7(x+
| y+3> 196.

It LA x+y+3=28.

It LA x+y=25.

FIr Lk 2(x+y)=50

It LA T TE 14 JEH R 50em.

AN

23.%%. (1) (a+b)2=a+2ab +b?
o, at+2ab+b2=(ath )2.

(2)(2a+b)(a+2b)

=2a*+4ab+ab+2b?

=2a+5ab+2b°.
| It I 240/ A2 5K, 48R B2
3K AER C5 K.
().
p2+q?=20,p+q=6.
24 (p+q )%=
firLk 2pq=6>-20=16.
firLA pg=8.

ERTH

Z+q 2+2pq 62

fIrLL 'S @q%=%pqx2=pq=8.
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% 25 | % 2 iR m oy %) g,
2 bR | 1.C 2.C 3.0.000 000 23
! g 15.%% . (DR 4 8=, 15 1.5x
1.1 FRHEEMRE : 3 :
: e 1 10%1.2x10%0.8x10%=(1.5x1.2x0.8)x
1.C 2D ! — JETERA :
105 (5) s (3) () ! 1~3.CAB L (10%10%10%)=1.44x10%(cm®).
3.(1)37;(2)=a";(3)(=m )™, : . '
A ' 4-68BC % O A BUY 144x
L2 BEA SRR | 0 AEE 10
& 1 imp ! 7.5 ! (2)MRIERIE 15 3x10°x4x10%=
.  gan | (3x4)x10%10%=1.2x10°( £ %),
6. - 6n 1 |
1.(1)-&% (2) g Bligs (3%, : . -
. 9.3 XA K S E R R
38, 12, 8 ! !
2.(1)x*;(2)2a%;(3)a" | 105 AL 1200 T
% 2 iR At : :
; 112 ; 16.5%: (1Fh a=5,a%=25,
1D 2.8 | 2 |
: 121 52 023 : Il al=a:a=25:5=5.
1) s (2054 = e | BTl a+a=5+5=10.
42 1(x (2) 7 a=3%=(3°)"=243". b=
1.3 FREBHFRIRE C (2)8es | 44=(44)0=2564, c=5%=(5°)i=1251,
8 1 1R (3)=-m¥n; JITLL 5%<3%<4%,
L(Das (4)(ath)*. R c<ach.
(2)-a';  148R.(DER=1091=10" | 17.88:(1)2,4,6.
(3)mn?; ! l _
: (2))?3&4-1——94:4—1—-9: : (2)log,4+l0g,16=l0g,64.
(4)x%, : _
'1 (3)log.M+log.N=log,MN.
. =5,
211 4 (4)7% log.M=x, log.N=y, li] &=
1 : ‘ |
(2)5 l (3)J?%£t=-£11——3+1-5=-7i—. . M.a=N.
- : ‘ FirLh MN=a*- a’=a.
(3)-125 (4))ﬁﬁ=(-9)3x(—%)3x23x :
3.(1(m-1 : : FIrPL log.MN=x+y,
: 1 \s_ 3 1 _ :
(a-b)". (3) =(-9)% ( 3) % ?) x2’= R log.M+log.N=log,MN.
F1W
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2 hit
1.4 BXWsEE
% 1R

@

1.C 2A
3.24a%h?

4.(1)6%5 (2) 3-ab'e; (3)21y°

5.4 . UL AB (9K M 2.5x,

AC KR y,DE MK 3y.

FFLLZ I TR 25x-y+

0.5x * 3y=4xy.
6.1,2
5 2 iRAY
1A 2.C
34

4.5 ANME—, 1 2a(a+h) =

2a%+2ab
5.(1)-3x%y-3x%y%+3x*;
(2)-4x3y2-12x3y?;

1 a3 a5 3 0
(3) 3 XY+ XY Xy

6.6 : (1) 3% By it B 3L i) 4% Do

i L L (avar2d)x 5 a=

1 1 e
(2)i% b7 #t & Wi 4K B Ry

( 1 1

S-a+5ab |x100=(50a+508b )37

2972
% 3 ifAt
1D
2.A
3.-3
4.-3

5.0 : (1) J=x+2x+x+2
=X*43x+2.

(2) )5 =x2-xy+xy-y2-2x+2y
=X2-y2-2x+2y.

6.0 : =222 1.

M x=-2 B, Ji X =—2x(-2)>- 1

' (=2)-1=-8+2-1=-7.
| 7.-12
3 hit
— JEEFER
' 1~3.0DD
4~6.DDB
—ETHE
7.-6x%*
8.-3x%"
9.m(m+a)=m*ma
‘ 10.<
11.-5
1220
= BES
| 13.5%: (1) =2+ 2ab * ah’=
4
(2) )7 =15a%h?-35a%°-5a%°.
(3) i =2m*+3m2-11m+3.

14.5% ; (1) K =2 -4x-6x+

L 3x+AXC=x

1
T

(2) )50 =a2+5a+4 +al-4a=2al+

- atd.

M a=-2, A =2x(-2)2+(=2)+ f

- 4=10.

| 15.9% : (LI g A=-2x*+x, H.
A+B=3x3-2x>-X.

‘ It LA B=3x%-2x2-x-A
=3x3-2X2-X+2X*-X

=3x3-2X.
(2)AxB=(-2x%+x)(3x3-2x)
=-6X+4x3+3x*-2%2.

| 16.f# . (1)(3a+2b)(2a+b )=6a%+
3ab+4ab+2b%=6a*+7ab+2b%

JIT AR A J7 T8 2 i 14 1 B
 (Gat+Tab+2b?) F I K.
| (2)2b(2a-b )=4ah-2b>.

JIT LI AR 0 /M T T =
TR (4ab-207) R
(3)6@+Tab+2b-(deb-2b%) =
" Gat+3ab+4b2
| 24 a=3,b=1 i,

i =6x3%+3x3x1+4x1?

=6x9+9+4

=67(F 7 K).
| FrLASRAL TR S R TR ARy 67
k.
| 17.8% . (1)Dx*+5x+6;

@x?-3x-70;

3x*-11x+30.

(2)Dx2+4x+3;

@x?-5x+6;

(3x2-3x-10.

(3)x%+(at+h )x+ab.

(4) 223K (3) AT H1 (x+a) (x+
" b)=xt+mx+6 H1,m=a+b . 6=ab.

KN a,b,m B4,

Fr L 6=1x6 8 (-1)x(-6)EL
2x3 #i(-2)x(-3),

JIrLk m=7 57 5 5 8§-5.

g2W

tERERTE 7 H

527 H
2 hR
15 FAERR

% 1R
1A 2B
3.a%-4b?
4.5% . (1)) x=4x2-25.
(2) i =a?-1-a2+2a=2a-1.
5.(ath)(a-b)=a%-h?

% 2 R

1. (1))520=(900-2)(900+2)=

900%2°=810 000-4=809 996.

(2)F=(6-1)(6+1)(6%+1) " f

(64+1)(6%+1)(61+1)+1

=(6%-1) (62+1) (6*+1) (6°+1) * |

(6%+1)+1
=6%-1+1
=62,

208 JE=(2-1) (2+1) (22+

1)(2*+1)(28+1) (21541 )(2%+1)

=(22-1) (2241) (2441) (2841) -

(216+1)( 232+l)

=(24-1)(2%+1)(28+1)(2%5+1) - f

(232+1)
=(28-1)(28+1)(2%+1)(2%+1)

% 2 iRAt

142.(1)5=0=(200-2)*=40 000-

| 2x2x200+2°=39 204.

(2)J55R=(1 000431 000000+ :

' 6 000+9=1 006 009.
2Rl (x-2y)+1 )2
=(x-2y)2(x-2y)+1

=XP-4Xy+4y>+2x-4y+1.
i 1.7 BB %
’ % 128
L.y
2.480

! (2)J}£iﬁ=—3a"b7c'%a

! 3

== a'b’c.

=a"b"=a'h’.
JIF L 3m—-2=4,3n-4=5.
FrLl m=2,n=3.

% 2 Bt
1.A
2.(1)3x°-24%+1;
E (2 )4x2y2+2xy2—1.

3.f% . (l)J}FT\:—Et=48x5y2+8xy: :

48 (b )= ab? P=ab bt

2022-2023 Z £

2\ 3B R
= REJ
13.(1)-2y.

(2)-3x%y%+5xy-y.
14.(1)5x2-2xy.
(2)at-4ab+4h2-9c?.

: 156 (VO, 5242 Az
L

. (2)(a-2)+(a+1)(a-1)-2a-
- (a-3)

: =a’-4at+d+ai-1-2a+6a
=2a+3.

fITA 4 a=-0.5 B,
J#=2x(-0.5)+3=-1+3=2.
16.1%: (1A

() x2-y?=(x+y)(x-y)=16,
'+ H x+y=8,

FIrLA x-y=16+8=2.

| (3)298x302-300°
=(300-2)x(300+2)-300?
=3002-22-300?

=14,

. 17.%% . (1)iX 9-x=a,x-4=b, M|
" (9-x) (x-4)=ab=4,a+b=(9-x)+(x~
' 4)=5,
FIrLA(9-x)2+(x-4)?=a’+h?=
" (ath)?-2ab=52-2x4=17.

=(28-1)(2%+1)(2%+1) 3 hR (B NIEJ ABCD K
=(2%-1)(2%+1) — JEiRE "X,
=081, 1~3.DDC 4~6.CDB ' Ff 1 DE=x-2.DF=x-4.
1.6 EZFHF LK —EF# P& x-2=a,x-4=bh

£ 1R | 7.2m? | WS ¢y cum=ab=63,a-h=(x-
1D 2D : 8.-3 L 2)-(x-4)=2.
3.4a%-4ab+b? 9.4b-3a I frlh(at+h )=(a-b )*+4ab=256,
4.(1)J5E=4m?-12mn+9n2, | 10.(a-b )=(a+b )?-4ab | Bl a+b=16.
(2)J30=16x2+16xy+4y2 11.0 | JiF LA 5 T EMFD B9 JE K0
5.3 : 12.-2 8% 0 . 2(DE+DF)=2(a+h)=32.
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